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The first line of input contains an integer i T : repre_éenti_n_g the
number of test cases. :

The next | T iines of input contain the strmg B and character
L by space separated.

Where,

» Thestring B represents the chocolate box (each character
represents a chocolate),

« The character L represents the chocolate that Ramitikes.

Output

[he output should be T lines containina an intecaer renresenti




. C:ms:da nne mﬁp ta mave tq aﬁ a:;ljacent roomn, and write a program
for eam persnn that prints the minimurm steps required to reach the

lriput

The first line of input contains an integer | T, , representing the
number of test cases.

The next T lines of input contain string 'R,
rooms, each room labelled with d or § letters. based on the type of

representing the

room.

Output

fhe -:uzpw shouldbe T lines -:cmamlrn] space-se Dalaxed

afe

.._.a"

FOOrT.
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sample Input 1
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o mity assume that below is a picture of the wall after James painting
has been completed.

S

In the above picture, the red color blocks are represented with 1 and
the blue color blocks are represented with 0

A connected area is a group of the same color blocks which are can
be Tour way connected either horizontally or vertic

diagonally)

ally (not

mpie. the: pelow IMmage contains four red colored

ONNE (=5 |
L iell
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After looking at the painting, William asked James for a largely
connected area with red color.on the wall|

James left with 8 small amount of paint that would cover only one
red color block. James can repaint one blue colbr block with red
color in order to cannect with other red colored blocks.

connecied area with red color on
ge a maximum of one blue color
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 The first fine of input contains an integer ‘N representing the
_ length of the wall [INXN)! .

The next NIl lines contain space-separated integers of 0 and
1. representing the blue and red blocks on the ‘ﬁi"‘

OQutput

The output should be a single line containing an integer representing
the largest red color area on the wall,

s ilir"i:[!:llia'llls:_ll-'!]l_'l

Explanation



When we replace a maximum of one blue color {Ojg%lock to red color

{1) block and connect three 1s. we get largest red color area on the
wall = 117
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(IR the output is 1‘7

Sample Output 1

sample Input 2
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ey lntha giveﬁ ba&kpl;sld‘{r}e pcn uFthe bﬂcesofany two
: ad;acent baskats Is Qﬁe&terthbn 1, tben combine the two
baskets afapplea fﬂtﬂ nne basket. ? |

' L When twn baskehs are belng cur'nhmed the price of the
' cnmbmed basket shpuld be the LCM (Least Common Multiple) of l
“those two haskets prices. |

",- Students rnust continue this process as mng as the GED of the
prices of any two adjacent baskets'is. greater than one,

LT S rRase el
MO

Write a program to solve the above pretllem and pnnt the final
basket prices.

Input

The first line of input contains an integer Tl representing the
number of {est cases.

Thenext | * 2 Jdines of input contain aninteger ‘N
representing the number of baskets and the N | number of space-

':'.EpEi'E'.:’:JrI tegers represanting the prices of each basket,

Output




For example, if the given test cases are 2,

Test case 1: N8 , |hticed|xi12 41231617

. 12',24 are two adjacent basket prices whose GCD is greater
than ':1 , SO combine the two baskets of apples into one basket
and use their respective LCM as their hsmt priceie 12 .

As a result, there will be 'S5 new baskets. and their prices will

be 1223867

o 2,2 aretwo adjacent basket prices whose GCD is greater
than 1 |, so combine the two baskets of apples into one basket
and use their respective LCM as their basket price e 12
As a result, there will be '4  new baskets: and their prices will
be 12367

= 12,3 aretwo adjacent basket prices whose GCD is greater
than 1 , so combine the two baskets of apples into one baskeat

tive LCM as their basket price ie 12

new taskets, and their prices will




w bﬁékatsurmph&mmahm
aMMﬁMﬂﬂmmﬂu..

new bﬂﬂk&ts, and their prices will

than m -
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Test case 2: N2l | fHé.s : '"ﬂ“? b i fhc i e

2,21 are two adjacent basket prices whose GCD is greater
than i1, so combine the two basket

s mmm

f applées into one basket
and use their respective LCM &s their basket price ke 2 . As a

i

o

. : il : i

result, there will be '6' new baskets and their prices will be 5

23 e :

= 3.3 aretwo adjacent basket prices whose GCD is greater =
than -1

, 50 combine the two baskets of apples into one basket
and use their respective' LCM as their basket price e 3
As aresult, there will be -5 new baskets. and their prices will
be 21133

- 3,3 are two adjacent basket prices whose GCD is greaier
han -1 , so combine the two baskets of apples into one basket
and use

ive LCM as their backet price je 3

S

be 4 new baskets an

'd their prices will
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Sample Output 1

Sample Input 2
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